MUD / MUS 3%

202 {VuEEFEXERRSE (EAE / BEEE ) mindman

NHRERY  ZOTAIERES - EEE/ EE 08 1/8" ~1/2"

SRR K ER R - FHT HE o KRS EL M B

MUD/MUS-6,8 o WEBIX " AR [ H BRIV R -
D o NI{EMEREE TN » ELEERAE -

o MUD: S IE B AR I HE R 130°C - SynfFTHad

Viton ~ Silicone ~ EPDM IFiRZEBEM B Hi ]

o AC B 7% : +10% » DC BIEA T2 1 +1% -

* WeE

ZATR MUD MUS

e R H A%

T BN

TERGTEEN SR BN

1 RZETA NBR PTFE (Teflon)

1EREE NBR PTFE (Teflon)

HEEHHE
b o BENUIRE - B FRLEIE BREZIT -
4 | e BTIEEMER - HEN BRI RIS -
Zf o ZHETRER PRSP BE - ASH A 1 7 Tl B S -
@ oM ANE P NS
N o LRSI RRRE + A Ryl -
_ \ o JEph I o
al - o MUD: ZiE#5% 20 cst DL L-iips -
§]Eﬁﬁ§y,€; N\ o MUS: 251558 50 cst LA Eiiftaa -

MUD —6H—NO—[ —G—AC110 -G
T 2T =~ I

L
MUD-10,15/MUS-10
D

2/2N.C.

M

2/2 N.O.

Ja . #E  HEAR ’ Ll b r ;
B EREEOR NO: ¢ F e W | 7k~ 2R BREE BLE O8R5
MuD 6:1/8" T - AAESHG | G | i AC220V/(50/60)Hz & : Rc
mus 8: 1/4" D: DIN 8 T4l LO | &l (*1) AC110V(50/60)Hz  G: G &
10:3/8" IRIEEED 130°C LR VA | Tz DC24V NPT: NPT &
15:12" g gy (HeHIrE 5 ) (FE MUD)
H: I 1. B3 ~ M R
(f#5#H] MUS)
e | DN BUE | CV | EVELIEE | ViR {56 FHIER Y J5E % MPa Bz JUST (mm) HE
MREE | CEE | fH | (mm) [REEC | k| zegg |z || Fgr| o | L[ H D[t |Dp1| m | (ko)
MUD-6 Rc1/8"| 023 | 25 |-5~+80 [0~0.7[0~0.7| — |0~0.7[0~0.7| 0~10° | 41 | 66 |21.5| 23 | 19.3|M4x0.7| 0.32
MUD-8 Rcl/4"| 023 | 25 |-5~+80 |0~0.7|0~07| — |0~0.7|0~0.7| 0~10° | 41 | 66 |21.5| 23 | 19.3 |M4x0.7| 0.31
MUD-8 Rc1/4"| 058 | 4.0 [-5~+80 |0~0.3|0~0.3| — |0~0.3|0~0.3| 0~10° | 41 | 66 |21.5| 23 | 19.3|M4x0.7| 0.31
MUD-8 Rcl/4"| 079 | 60 |-5~+80 |0~0.1]|0~0.1| — |0~0.1/0~0.1| 0~10° | 41 | 66 |21.5| 23 | 19.3 | M4x0.7| 0.31
MUD-8H Rc1/4"| 018 | 12 [-5~+130 | 0~2 | 0~2 | — | 0~2 | 0~2 | 0~10° | 41 | 66 |21.5| 23 | 19.3|M4x0.7| 0.31
MUD-10 ® |Rc3/8"| 058 | 40 ([-5~+80 | 0~1 | 0~1 | — | 0~1 | 0~1 | 0~10° | 53 | 75 | 48 | 20 | 21.0 |M5x0.8| 0.53
NC 'mup-10 Rc3/8"| 0.79 | 80 |-5~+80 [0~0.3|0~05| — [0~0.3[0~0.5|0~10°| 53 | 90 | 48 | 20 |21.0|M5x0.8| 0.65
MUD-10H Rc3/8"| 045 | 2.0 |-5~+130 | 0~2 | 0~2 | — | 0~2 | 0~2 | 0~10° | 53 | 75 | 48 | 20 |21.0 |M5x0.8| 0.54
MUD-15 Rc1/2"| 058 | 80 |-5~+80 [0~0.3|0~05| — |0~0.3[0~0.5|0~10°| 53 | 90 | 48 | 20 |21.0|M5x0.8| 0.64
MUS-6 Rc1/8"| 023 | 25 |-5~+185 | — | — |0~0.7]0~0.7| — — |41]66|215 — | — | — |032
MUS-8 Rc1/4"| 023 | 25 |-5~+185 | — | — [0~07]0~0.7| — — |41 ] 66 |215| 23 [19.3|M4x0.7| 0.32
MUs-10 Rc3/8"| 023 | 40 |5~+185 | — | — |0~1]o0~1]| — — | 53| 75|48 | 20 [21.0|M5%0.8| 0.54
MUD-6-NO Rc1/8"| 0.23 | 25 [-5~+80 |0~0.7|0~07| — 0~0.7 | 0~10° | 41 | 87 [21.5] 23 | 19.3 [M4x0.7| 0.44
MUD-8-NO Rcl/4"| 023 | 25 |-5~+80 |0~0.7|0~0.7| — 0~07 | 0~10° | 41 | 87 |21.5[ 23 |19.3 |M4x0.7| 0.43
No [MUD-8-NO Rc1/4"] 058 | 4.0 |[-5~+80 |0~0.3[0~0.3| — 0~0.3 | 0~10° | 41 | 87 [21.5] 23 | 19.3 [M4x0.7| 0.43
MUD-8-NO Re1/4"| 079 | 60 |-5~+80 |0~0.1]|0~0.1| — 0~0.1 0~10° | 41 | 87 |21.5| 23 | 19.3|M4x0.7| 0.43
MUD-8H-NO Re1/4"| 018 | 1.2 |-5~+130 | 0~2 | 0~2 | — 0~2 0~10° | 41 | 87 |21.5| 23 | 19.3|M4x0.7| 0.43
MUD-10-NO Rc3/8"| 058 | 4.0 |-5~+80 | 0~1 | 0~1 | — 0~1 0~10° | 53 | 105| 48 | 20 [21.0|M5%0.8| 0.7

*MUD-6, 8-NO &J#E )y DC24V » = H fy 79.5mm - * ELZEHEAIIG - FFRHIIIEZE - * ik R AR T RGEHAZE A S -

AW mindman



	1_規格

